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JAAL 835 ulel oLl wHell el sall .

1 M.C.Q.
(1) 9d Ueedl ®iol 3ol usR-l du & ?
(A) Rar (B) »iRar
(C) Ralfiraws (D) (b

(2)  ouRdUl Al Hv ys Aaud 0L 8 ?
(A) ugues (B) rau 68*
(C) waa (D) ay Geloy

(3) ollfaud Ao oo sa U oy © 7
(A) o b (B) Glod ald
(C) usia alq (D) @15 gl 4.

(4) GRd A AN 5MN s Aol AR U3 530 edl ?
(A) 20014 (B) 20074
(C) 19974 (D) 19994

(5) Geloll Aclastd s4L UsIR-L YAl Y Ul & 7
(A) sl (B) QAalil
(C) 2sllsa um- (D) a4
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(6) ®Rdxi g sl -1 413 sl 2udl edl ?
(A) 1945 (B) 1955
(C) 1965 (D) 1975

(7) ouRddl ay AUl Y3 uzd & s © 7
(A) Aaui (B) Gelol
(C) Raa (D) “dl

(8) oolel-ll [isual M2 84 uRen waseRr & 7
(A) Mima o3RAdBL arR (B) axdl [a=sle
(C) uwdlu 44l (D) 2uda dwx

(9)  o{l-i-d Y48l suL usR-L 8.
(A) wulka (B) »vuilka
(C) s (D) s

(10) ~0A-aiell gecdl 2au- 54 8.
(A) dlasll (B) o+l
(C) algasiR (D) ds

(11) <201 Aol 200l 2091 3eal Rad-l Axou sy & ?
(A) 30 Rax (B) 50 Rax

(C) 100 Raxn (D) 365 Rax

(12) eliRd™l adHiqdl 3eal 25 dls)l Adl G Ad & 7

(A) 30 % (B) 40 %
(C) 50 % (D) 60 %

(13) GellolMi Yrasl GuR AlHl »iga A €U & ?
(A) “gd (B) Geues
(C) usR (D) Alss
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(14) Adlai sa usil Aol Adl woL © 7

(A) aBy (B) w9t

(C) o= (D) Rulad
(15) QA-siell 53 geadl ieuns el ?

(A) sl (B) dlwell

(C) wel (D) %l

(16) Mad 1 yadl wHemi dlos yadl Yl wigdl 58 dl-il

HHL O 7
(A) Rz 513 (B) 4R alaq
(C) usia alq (D) alfiaum

(17) Aatelaldl YAl oML 318 A 2L AR ™Hd.
(A) o 8. (B) Gl oy 8.
(C) Rar W B, (D) 3 <l

(18) oRdxi ga W@l 0A- 32al 251 Hl AR, A3 U WM

A5 8.
(A) 10 5% (B) 5l 10 %
(C) 10 15 % (D) 15 ¢l 20 %

(19) sfdiei-ll Quir-ll 2l i1 2y Jeal & 7
(A) AR (B) ==
() 4 (D) s

(20) A~ s s oL s glRL $AL H2se YA ¥Y

gq 7
(A) 3o ues (B) Swdn ues
(C) »ulls =es (D) o ues
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2 sBUelal-l euaRardld Hea quendl.

Yql
2 vduelalivl MLl AA$AL WRotodl Y4,
3 AU sl Rl 1 s 2424l

Yql
3 s A [Bagl Quirdl [i3gHl edlal auiil.
4 ol e A Al @ael weldl.

Yql
4 sl eua dasl sgil arudl.
5  opdlfaad Aol [ qqendl.

Yql
5 vl 58+l Uld AR Sl WROIL 2 -l Aledl weldl.
6 s Usil-l Hiasl Yl SR80 @R,

Yql
6 A2l oudl Al e Al .

ENGLISH VERSION
Instructions : Marks of questions are shown on right side.
1 M.C.Q.
(1) Which type of demand of Agri. products ?
(A) Stable (B) Unstable
(C) Flexible (D) Irregular
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(2) What is the main supplementary occupation of Agri.

in India ?
(A) Animal husbandary (B) Poultry Farm
(C) Fisheries (D) Small Industry
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3)

4)

()

©)

()

@)

©)

(10)

What is known as second name of Jyotigram Yojna ?
(A) Vijshakti (B) Urja shakti
(C) Prakash shakti (D) None.

When was Indian Government started National Agri.
development Plan ?

(A) In 2001 B) In 2007
(C) 1In 1997 D) In 1999

Which type of supply gave by Industry to agriculture ?
(A) Raw material (B) Services
(C) Technical-Inputs (D) Labours

When was Agri. price commission formad in India ?
(A) 1945 B) 1955
(C) 1965 O) 1975

Which is the largest sector providing employment in
India ?

(A) Service (B) Industry

(C) Education (D) Agriculture

Which factor is responsible for deforestation ?
(A) Increasing of Human needs

(B) Population Explosion

(C) Political wars

(D) All above

Which type of supply of land is ?
(A) Limited (B) Unlimited
(C) Equal (D) Widespread

Which of the following is a natural resource ?
(A) Electricity (B) Land
(C) Transport (D) Bank
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(11) How many minimum days employment given in
NAREGA PLAN ?

(A) 30 days (B) 50 days
(C) 100 days (D) 365 days

(12) How many people depends on Agri. at present in

India ?
A) 30 % B) 40 %
©) 50 % D) 60 %

(13) Who holds direct control on supply in Industries ?
(A) Farmer (B) Producer
(C) Government (D) Customer

(14) Which type of unemployment is seen in Agriculture ?
(A) Cyclical (B) Disquised
(C) Technological (D) Educated

(15) Which of the following is not a Natural resource ?
(A) Air (B) Electricity
(C) Water (D) Land

(16) For providing electricity regularly and sufficiently
which project was implemented ?

(A) Windfarm (B) Solar energy
(C) Prakash shakti (D) dJyotigram.

(17) When supply of Agri. product flows at a time in the
market the price...

(A) Goes Low (B) Goes higher
(C) Remains stable (D) None

(18) How many percentage of Land is occupied out of total
cultivational land for border, fencing, road in our

Country.
A 1tob% B) 5to 10 %
(C) 10 to 15 % D) 15 to 20 %
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(199 How many opinions are there for Agri. trading
conditions ?

(A) Four (B) Three
(C) Two D) One

(20) Which unit was suggested by land reform committee
of planning ?
(A) Unit of origin (B) Optimum unit
(C) Economical unit (D) Family unit

2  Explain the importance of stability of Agri. products price. 10

OR
2 Discuss the factors effecting price of Agri. Commodity. 10
3  Narate the achievements and failure of NAREGA. 10
OR
3  Explain the arguments against agri. and non agritrade. 10
4  Explain meaning of land and its characteristics. 10
OR
4  Explain the objectives of Agri. price commission. 10
5  Explain the Jyotigram Yojna. 10
OR

5  Explain factors affecting small size farms and its advantages. 10

6  Explain the reasons of uncertainty of Agri. price. 10
OR
6 Discuss about Beti Bachao Scheme. 10
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